TABELA ZESTAWCZA ZJAZDOW

E Nawierzchnia Pole powierzchni o _
a N2| N ~

1 2 30 4|5 6 7 8 9 10 11 12 | 13| 14 15

A-asfalt

K-
km m cm | P/L m m kruszywo m’ m’ m m m m

Kb-kostka

betonowa
zZ1 | 00+027,72 | - -l L] 40 | 63 K 74 1,5 234
Z2 | 00+048,16 | - - L | 40 | 67 K 12,0 2,5 235
73 | 00+05837 | - | - | P | 40 | 63 Kb 74 | 80 1.5 17131Z,. ‘i‘;sztff’ do
74 | 00+061,60 | - - L | 40 | 67 12,0 2,5 236
Z5 | 00+088,85 | - - L | 40| 63 74 1,5 237
Z6 | 00+101,78 | - - | P | 40 | 67 12,0 2,5 173/4
z7 | 00+127,86 | - - | P | 40 | 67 12,0 2,5 1741
z8 | 00+127,86 | - - L] 40 | 63 Kb 74 | 80 1,5 238
79 | oort6174 | - | - | P | 40 | 67 A 12,0 2,5 175(/1‘; ‘i‘;s;/‘?jp do
710 | 00+164,30 | - - | L | 40 | 67 K 12,0 2,5 23973
Z11 | 00+207,67 | - -l L | 40| 63 A 74 1,5 240
Z12 | 00424507 | 60 | 40 | P | 40 | 10,0 K 16,8 32 590
Z13 | 00+55581 | 60 | 40 | P | 40 | 10,0 K 16,8 32 633,41/1
S1 | 00+82431 | - - P | 40 - A 49,0 8,2 3522
S2 | 00+82527 | - - L | 40 - A 53,0 9,2 352/1
Z14 | 01435256 | 60 | 40 | P | 40 | 10,0 K 16,8 32 360
715 | 01+421,59 | 6,0 | 40 | L | 4,0 | 10,0 K 16,8 32 355
716 | 01+77837 | 6,0 | 40 | L | 4,0 | 100 K 16,8 32 356
Z17 | 01+786,64 | - - | P | 40 | 67 K 12,9 2,7 357
Z18 | 01485340 | 60 | 40 | P | 40 | 10,0 K 16,8 32 305
719 | 01487544 | - - | L | 40 | 67 K 12,0 2,5 294
720 | 01491940 | - - L | 40 | 67 K 12,0 2,5 295
721 | 01494985 | - - L | 40 | 67 K 12,0 2,5 296
722 | 01495922 | 6,0 | 40 | P | 4,0 | 100 K 16,8 32 308
723 | 01+969,11 | - - | L | 40 | 67 K 12,0 2,5 297
724 | 02+004,86 | - - L | 40 | 59 K 43 1,0 298
725 | 02+11020 | - - | P | 40 | 67 K 12,0 2,5 315
726 | 02+193,27 | - - | P | 40 | 67 K 12,0 2,5 318
727 | 02+251,81 | - - L | 40 | 74 K 14,9 30 | 1 d"s“zzp do dz.
728 | 02426495 | - - | P | 40 | 67 K 12,0 2,5 358
729 | 02+325,57 | - - P | 40 | 63 K 74 1,5 137
730 | 02432741 | - - | L | 40 | 66 K 9,8 2,0 5




TABELA ZESTAWCZA ZJAZDOW c. d.

E Nawierzchnia Pole powierzchni o _
a N2| N ~
1 2 30 4|5 6 7 8 9 10 11 12 | 13| 14 15
A-asfalt
K-
km m cm | P/L m m kruszywo m’ m’ m’ m m m
Kb-kostka
betonowa
731 | 02+363,55 | - - | P | 40 | 67 K 12,0 2,5 138
732 | 02+366,53 | - - | L | 40 | 67 K 12,0 25 | ! dl Z/ ?’1 gj’;}?’zgo
733 | 02140434 | - - L | 40| 67 K 12,0 25 | 13/% dostep do
dz. 14
734 | 02+412,18 | - - | P | 40 | 67 K 12,0 2,5 444
735 | 02+461,53 | - - L | 40 | 67 K 12,0 2,5 18
736 | 02+52337 | - - | P | 40 | 67 K 12,0 2,5 443
737 | 02+542,85 | - - | P | 40 | 67 K 12,0 2,5 349
738 | 02+549,26 | - - | L | 40 | 66 K 9,8 2,0 73
739 | 02+600,60 | - - | P | 40 | 67 K 12,0 2,5 351
Z40 | 02+60125 | - - L | 40| 67 K 12,0 25 | 74 dostepdo
dz. 75
741 | 02+630,95 | - -l L] 40| 63 K 74 1,5 76
742 | 02463542 | - - | P | 40 | 67 K 12,0 2,5 352
743 | 02+642,12 | - - | L | 40| 63 K 74 1,5 437/1
744 | 02+654,61 | - - | P | 40 | 67 K 12,0 2,5 353/1
745 | 02+664,34 | - - L] 40 | 59 K 438 1,0 77
746 | 02+684,74 | - - | P | 40 | 67 K 12,0 2,5 436
747 | 02471332 | - - | P | 40 | 67 K 12,0 2,5 354,355
748 | 02+747,54 | - - L | 40 | 67 K 12,0 2,5 79
749 | 02+750,93 | - - | P | 40 | 67 K 12,0 2,5 356
750 | 02+771,17 | - - | P | 40 | 66 K 9,8 2,0 357
751 | 02+837,33 | - - | P | 40 | 66 K 9,8 2,0 360/1
752 | 02485234 | - - | P | 40 | 66 K 9,8 2,0 360/2
753 | 024857,02 | - - L | 40 | 67 Kb 12,0 | 10,0 2,5 81
754 | 02+887,96 | - - | P | 40 | 66 K 9,8 2,0 361
755 | 02489747 | - - | L | 40 | 67 K 12,0 2,5 84
756 | 02490934 | - - | P | 40 | 66 K 9,8 2,0 362
757 | 03+002,05 | - - | P | 40 | 67 K 12,0 2,5 364
758 | 03+006,22 | - - | L | 40 | 67 K 12,0 2,5 87
759 | 03+020,11 | - - L | 40 | 67 K 12,0 2,5 441
760 | 03+029,04 | - - | P | 40 | 66 K 9,8 2,0 365
761 | 03+030,11 | - - L | 40 | 67 K 12,0 2,5 88
762 | 03+070,15 | - - P | 40 | 63 K 74 1,5 366




TABELA ZESTAWCZA ZJAZDOW c. d.

= Nawierzchnia Pole powierzchni

v 2 N2 2| 25|48 3 A K || 5| 2 |23 .
z [-» 5 A g, ﬁ i ﬁ % pa o g (el Z
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

A-asfalt

K-
km m cm | P/L m m kruszywo m’ m’ m’ m m m

Kb-kostka

betonowa
Z63 | 03+092,46 - - P 4,0 6,3 K 7.4 1,5 367
764 | 03+096,50 - - L 4,0 6,7 K 12,0 2,5 89
765 | 03+119,45 - - L 4,0 6,7 K 12,0 2,5 90
Z66 | 03+145,17 - - P 4,0 5,9 K 4,8 1,0 368
Z67 | 03+158,62 - - L 4,0 6,7 Kb 12,0 | 10,0 2,5 90
768 | 03+188,68 - - P 4,0 6,7 K 12,0 2,5 369
769 | 03+265,05 - - L 4,0 6,6 K 9,8 2,0 93
Z70 | 03+284,55 - - P 4,0 6,3 K 7.4 1,5 372
Z71 | 03+297,32 - - L 4,0 6,7 K 12,0 2,5 94
772 | 03+326,07 - - L 4,0 6,7 K 12,0 2,5 95
Z73 | 03+348,59 - - P 4,0 52 K 23 0,5 374
Z74 | 03+373,47 - - L 4,0 6,6 K 9,8 2,0 97
775 | 03+392,66 - - P 4,0 5,2 K 23 0,5 443
776 | 03+402,45 - - P 4,0 52 K 23 0,5 412
Z77 | 03+458,27 - - L 4,0 6,7 K 12,0 2,5 438
Z78 | 03+560,36 | 6,0 | 40 P 4,0 10,0 K 16,8 32 415
Z79 | 03+652,36 | 6,0 | 40 L 4,0 10,0 K 16,8 32 113,114
Z80 | 04+094,17 | 6,0 | 40 P 4,0 10,0 K 16,8 32 425
Z81 | 04+109,60 | 6,0 | 40 L 4,0 10,0 K 16,8 32 126/3
782 | 04+482,34 | 6,0 | 40 L 4,0 10,0 K 16,8 32 131
Z83 | 04+560,15 | 6,0 | 40 P 4,0 10,0 K 16,8 32 218
Z84 | 04+564,49 | 6,0 | 40 L 4,0 10,0 K 16,8 32 222
785 | 04+607,65 | 6,0 | 40 P 4,0 10,0 K 16,8 32 21772
786 | 04+612,30 | 6,0 | 40 L 4,0 10,0 K 16,8 32 220/2
Z87 | 05+026,84 - - P 4,0 10,0 K 15,9 3,0 109
Z88 | 05+026,84 - - L 4,0 10,0 K 15,9 3,0 139
789 | 05+039,95 - - L 4,0 6,7 K 12,0 2,5 138
790 | 05+042,68 - - P 4,0 6,3 Kb 74 8,0 1,5 108
791 | 05+074,85 - - P 4,0 5,9 K 4,8 1,0 107
792 | 05+107,78 - - P 4,0 5,2 K 23 0,5 106
793 | 05+109,55 - - L 4,0 6,7 K 12,0 2,5 136
794 | 05+146,61 - - L 4,0 6,7 K 12,0 2,5 135




TABELA ZESTAWCZA ZJAZDOW c. d.

= Nawierzchnia Pole powierzchni
v 2 N2 | 25|48 3 A K || 5| 2 |23 .
z [-» 5 A g, ﬁ i ﬁ % pa o g (el Z
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
A-asfalt
K-
km m cm | P/L m m kruszywo m’ m’ m’ m m m
Kb-kostka
betonowa
795 | 05+205,79 - - P 4,0 6,7 K 12,0 2,5 103
796 | 05+209,47 - - L 4,0 5,9 K 4,8 1,0 133
797 | 05+233,68 - - P 4,0 6,7 K 12,0 2,5 102
798 | 05+269,83 - - L 4,0 6,6 K 9,8 2,0 131/1
799 | 05+313,27 - - P 4,0 6,3 Kb 74 8,0 1,5 99
Z100 | 05+387,85 - - L 4,0 6,3 Kb 7.4 8,0 1,5 126
Z101 | 05+393,19 - - P 4,0 6,7 Kb 12,0 | 10,0 2,5 96
7102 | 05+403,96 - - L 4,0 6,6 K 9,8 2,0 125
Z103 | 05+432,28 - - P 4,0 6,6 K 9,8 2,0 94
Z104 | 05+452,24 - - L 4,0 6,3 K 7.4 1,5 123
Z105 | 05+492,84 - - P 4,0 6,6 K 9,8 2,0 110
Z106 | 05+541,15 - - L 4,0 6,3 K 7.4 1,5 120
Z107 | 05+567,07 - - L 4,0 6,7 K 12,0 2,5 119
Z108 | 05+586,71 - - L 4,0 6,7 Kb 12,0 | 10,0 2,5 118
Z109 | 05+722,82 | - | - | P | 40 | 66 9.8 2,0 84}&?;?1 &
Z110 | 05+727,77 - - L 4,0 5,9 K 4,8 1,0 114
Z111 | 05+784,03 - - P 4,0 6,3 Kb 7.4 8,0 1,5 83
Z112 | 05+811,46 - - P 4,0 6,3 Kb 74 8,0 1,5 82
Z113 | 05+836,15 - - L 4,0 6,7 K 12,0 2,5 111
Z114 | 05+858,72 - - P 4,0 6,7 K 12,0 2,5 81
Z115 | 05+902,58 - - P 4,0 6,6 K 9,8 2,0 62
Z116 | 06+010,74 | 6,0 | 40 P 4,0 10,0 K 16,8 32 27
Z117 | 06+033,53 | 6,0 | 40 L 4,0 10,0 K 16,8 32 80
Z118 | 06+263,64 | 6,0 | 40 P 4,0 10,0 K 16,8 32 306
Z119 | 06+838,65 - - P 4,0 10,0 K 15,9 3,0 304/3
Z120 | 06+854,40 - - P 4,0 10,0 K 15,9 3,0 305




